TAMENYT i n2Y  ERBFITILADEE

<FEJ-T> Offl H[I3F118148 (B)
ATJOwv”D A1l A2 A3 lIE{iz
2ZJUIN Rits ke
A1 2-0 0o-2
6-0/6-2 4-6/3-6
22JUIN
A2 0o-2 0o-2
0-6/2-6 2-6/1-6
Rits
A3 2-0 2-0
6-4/6-3 6-2/6-1
TS50
BZOwv”D B1 B2 B3 lE{iz
JrY—RA b=V B ERAR SAIXDRR
B1 1-2 1-2
1-6/6-3 6-4/(4)5-6
Jr—-A k=Y (5-7) 5-7)
B2 2-1 2-0
6-1/3-6 6-2/6-4
BT (7-5)
B3 2-1 0o-2
o 4-6/6-5(4) 2-6/4-6
SAFDIRR (7-5)
c7awvy C1 c2 C3 lE{iz
TANA ATOM JOY O RT
C1 2-0 2-1
6-2/6-3 6-2/3-6
JANA (8-6)
c2 0o-2 0o-2
2-6/3-6 0-6/5-6(4)
ATOM
1-2 2-0
€3 2-6/6-3 6-0/6-5(4)
6-8)

JOY O RT




<A IED
B AVD1Y
R | BPEEHR

170w D A1 B11iz C11fiz [[=Tvi
ZVS1Y BhERIFR A AL
A1z 2-0 2-1
-5(5)/6-4 4-6/6-3 ;
A5 (7-2)
B11i o-2 2-0
(5)5-6/4-6 6-2/6-4 5
EBCPETANRY
C11{iz 1-2 0o-2
6-4/3-6 2-6/4-6 3
A ANA (2-7)
QNIED
11 © 2)UJN XOT—NER ) —PRENIT—I 4T —DIFL
270w 2D A2{i1 B2fi1 C2fi1 & {iz
PIUIN SAIEDER JOY T ORT
A21i1 2-1 2-0
5-6/6-4 6-5/6-5 1
2)UIN (7-2)
B21i1 1-2 2-0
6-5/4-6 6-1/6-2 2
BAIEDRSR (2-7)
C21{u 0o-2 0o-2
. 5-6/5-6 1-6/2-6 3
JaYv O RT
SHIED
141 : ATOM XOT—NER ) —PRENIT—I 4T —DIFL
3T70vD A3fiI B3z C3fiz [ELwA
Rits D=2 =2 ATOM
AS3fiI 1-2 0o-2
6-5/0-6 5-6/2-6 3
Rits (5-7)
B3fiz 2-1 0o-2
5-6/6-0 2-6/5-6 5
JrH—2A k=2 (7-5)
C3fu 2-0 2-0
6-5/6-2 6-2/6-5

ATOM




<F—LXN—FK>

ey

Fr7Av Ak [EFS ¥ E HEF
B EEAR yN= H KER TR
T2 k- EXR XTF 77 HE
SAIEYRR FtH 5 Ik wH
ATOM H TR A LS
TN IR kil TSR IS El

TA A N AB IR Fes
A= R A At FA ARAS B3
Rits e #H IR N




